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CHEM 160, FALIL 2014 NAME K C lj

: EXAM #1 (Chp 1, 2, 3) 105 pt
Mark only one anSWer on yOour scantron unless it is written to mark more than gne. Each question is worth 2 pt.

Chapter 1.
1. (1.3) Testing a hypothesis is which step @enuﬁc method?
Q)

A) Observation B) Hypothesis perimentation D) Theory E) Law

)sl 2. (1.4) An example of speed is mlles per hour, What quantities are measured to determine speed? Mark all that

apply.
A) Volume B) Mass C) Temperature .ngth @m

(1.4) For the units. USE THESE ANSWERS FOR QUESTIONS 3-6

| 3. 1 gigagram = A gram A) 102 AB) 10° -2

’ - AP B) 10 BC) 107
l 4, 1 centimeter = meter ) 10° CD) 10 96

_ 2

: 5.1 nanometer = D ) meter D) 100 DE) 10
| E) 10
i

i 7. (1.4) Which is the smallest increase in temperature:
A) 10 °C (such as from 100 °C to 110 °C),

B) 10 K (such as from 100 K to 110 K),
C)40 °F (such as from 100 °F to 110 °F)?
! (1.5) (6 pt) For each of the following measurements:
a) Write the volume with the correct number of significant digits.

b) Circle the uncertain digit
¢) Write the error in this measurement (the * )

l“'%% £ ' D\ psi?

A N R

all'ﬂll"!lillll\lél } U

-
.

20 pt




! \_x 15. (2.2) Mark all answers on your scantron that are exact (E) numbers.
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8. (1. 5) How would grou descrlbe the followmg density measurements in terms of accuracy and precision: 1.8
1.9 gfem® , 1. 8 g,/cm The accepted value for this density = 1.8 g/em®.

>, 1.7 glem®
A A)acyurate / precise  B) inaccurate / precise C) inaccurate / imprecise D) accurate / imprescise

Chapter 2.

(2.1) USE THESE ANSWERS FOR QUESTIONS 9-14 _
A) cancel E) exact unit DE) left
B) decrease AB) given value ABC) unwanted
C) defined BC) inexact BCD) variable¥
D) desired CD) known

9. The first step in the umt analysis procedure is to identify the unit for the value we want to calculate. We write
thisonthe Zft DE  side qf ? equals sign.
10, Next, we identify the (ﬂ
side of the equals sign. » (¢ QD

‘*}& 11. In the unit analysis process, we multiply by one or more conversion factors that cancel the iy Wﬁ/_;tfpﬁ ﬁjg(l. '

units and . “‘* f’\@
12. generaie the [) Jﬁax\f’@@ units. 8 C; D

13. Note that the units in a unit analysis setup cancel just like' - VW"’)DL'-!) in an algebmlc equation.

14. If you have used correct conversion factors in a unit analysis setup, and if your units .a CM(J-&) to yield
the desired unit or units, you can be confident that you will arrive at the correct answer.

' D)555m

A) 25 pounds of sugar @2 dozen apples

/;{}-16. (2.2) Which value has 3 significant figures?

A) 300 oz B)070x10'kg  (CCYO230L  D)2310ke

(2.2) (4 pt) Report the answers to the following calculations to the correct number of significant figures
o ; 4 .
23.40-182 = \5 :Lj b dee. /lee_ 456.8(5280)* = 4 U220 2 w4 P\ £
T (10609 i 9

(2.3) (6 pt) When a rubber stopper that weighs 77.7 g is submerged in water in a graduated cylinder, the water
level rises from 55.5mL to 62.7 mL. Caleulate the density (g/mL) of the riubber stopper. Round your answer

to the correct nuTber ‘:],: :‘iz)ggiﬁcant figures. ol . . DJ._Z W 3 o 5 N Ka }/ _
D - \J@\ ""’r‘g,& (-
/_:’é e
RS NI
p - AT

28 pt

_that we will convert into the desited value and we write it on the other N



(a) hydrogen
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21. (3.3)"Which two elements
A) K

20. (3.2) Which is themagt abundant element on the ear
t (b) éxygen (c) silicon

22. (3.3) Group 1A elements are also called:

EXAM #1 (continued)

(d) iron

have similar properties?

OK D)F

E) Se

2
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kali metals.

A) noble gases. B) halogens. C) atkaline earth metals.
(3.3) (10 pt)
Complete the following table.
Name Symbol Group Metal, Representative | Number
nomber | nonmetal, or element, for
metalloid? | transition metal, | period
Rlum>owm | Al YA ML kfef 3
silicon q A mattillor R Rep "
fy) CK2\ Ni Y poue | N | T W2
sulfur S A N e Remp ”f
(3.4) (10 pt) Fill in the following table for these elements.
ISOTOPE -
ISOTOPE NAME SYMBOL | ATOMIC MASS# | #PROT | #ELEC | #NEUT | CHARGE
# #
v ] 27 : L
oo AN AL (3197 | 1317 YE o
21
Chlorine-37 d! : 1 20 | .1
A 117 18

(3.4) (8 pt) Calculate the average atomic mass of an element that has two isotopes.

Mass (amu)

Abundance

Isotope 1 10.012937 }6 19.9 / C@

g0
% 80.1 / (
What element is this? ﬁﬁ’l"’bn

Isotope 2

23, (3.5) Which of the following 1
aje solidid_iquids or gases

36 pt

11.009305

YoDw, 4 Gtnp.

B} shiny

ot
-
.

Borcent
1.9945
20185

physical property of metals?

C) conduct electricity

D) conduct heat

E) ductile
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(2.4) (4 pt) Calculate the grams of alcohol in 100.0 grams of a solution that contains 23.0% alcobol. Round your

answer to the correct number of significant figures. oLt |
f‘/ x PM* AT - 22{0”79 | Cﬁﬁi .
bl WMLQ \ oo .o 3; 5011,1)2%

(2.3 & 2.5) (7 pt) The density of whole blood is . tyical human has about 5.5 quarts of whole
blood. How many kg is this? Round your answer to the correct number of significant ﬁgures

| k
R t G,S S ___L_._l'} —-—"—"‘“\*})&)»—-’\? '““‘“"“‘“'%(
Cj c{)\t g;r‘(;]sh' Otﬁfl\ i Y %&
- 55 DB
,c»sm Kboo( < WU

— [;LM)S ]{.@ < (2,5 k%

17. (2.6) Temperature scales. Which of the following temperatures is the lowest?

A)0°C  B)O°F C) 32°F D)RI12K
A7 {r az K —~2713
b F'VS"Z' C.»Q\D_-‘Q‘r?f
-
l» ) C ewl |
0 C« o Lf ,7‘ D .
el ————
- Chapter 3.
AL. 18. (3.1) Which of the following does not describe the gaseous state?

A. Same shape as a closed container
B. Same volume as a closed container
C. Random, independent particle movement
I}, Easily compressed
I describe the gaseous state

19. (3.1) The change of state from a gas to a solid is called
A) evaporation B) condensation ~ C) sublimation D) freezing @%position AB) melting

17 pt
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3.6)The Mole
24. Ope_yole of copper aioms is 6.022 x 10% copper atoms.
A) Rrue B) False
25. One Tigle of copper-has a mass of 29 grams.
A)True - @)/ Ise
( F)
26. How many atoms are in moles of fluorine eas?
A) 6,022 x 107 B) 9.03 x 10¥ C) 18.98 5 D) 1.81x 10*  E) none of the above
o s
T A = [ 67 wel v b 02000 otow, 2 oyy, 2
. R o .
Vb Lo oo F
27. How many moles of in 1.48 x 10 Cu atoms?
A) 0.0408 B) 24. C) 154 x 10* D) 6.022 x 10* E) none of the above
. o L) L s
¢ D 28 X il
; \JJL {H (2% 7 Y /

L‘%%LWJ‘ Con alhones sl
Iy S
(yyo’).u?/)é vayg

2 Ml ol

Spt



* USEFUL COMYERSION FAC TORS AHD RELATIONSHIPS

Length Energy {derived)
& raraily mrapderro) 5 cauie fexale £f)
1kra= 062137 mi 1]=1kgmi'/s’
1 1o = 5280 ft 1] = 02390 cal
= 16093 ki =1Cx1V
1m=10936yd 1cal=4.184]
11in, = 254 cm (exactly} 1eV=1402x 1077]
1om= DBE%?UD - Mressure {derived)
14=10 m S ey Panral {78/
Fass 1Pa= 1N/t
e =1kg/ms’
1kg=22040Th 1 atra= 101,225 Pa
1 b = 45359 B = 7] torr g
= 16w o = 14,70 o/ in
1amu= 16605402210 g 1har = 1_l] Fa
Yolume {derived) .
S e rbie mter fng”)
1L=10 "’
=1 dn
= ‘IDS -::m3
= 1.0567 qt
1gal=dqgt
= 37854 L
1 u:r:ﬂ3 =1 ral
110’ =164 exed

RERIODIC CHART OF THE ELEMENTS

# Lanthinnbde Series
M g0

B

e
0,12 | Ho.907

0 | pdn

$aotivide Serigs , _
ﬁﬁ (F] [{E A T IR
ﬂ‘%dﬁaﬁ {331F DO ) FERW ) (243§ (3E | 147 | e | iaE |08 | (sR [E5R) | [Re IFEY]




